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15Km#ZET 24,957 7,692 22 19 319 24 12 762 3
(21,894 (6.430) (13) [©) (295) (8) 210 (10 (680) () ( 0)
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40KmZET 1,924 1,179 1 1 23 3 4 1 39 2 2
(1,732) (1,130) (@) 0 @) Q) (O] (@) (36) ( 1) ( 2)
50KmZE 1,188 1,114 3 0 23 1 1 0 24 0 0
(1,088) (1,087) @) 0 0 @) 0 0 210 C 0 [G0)
60KmZET 831 933 2 0 29 0 3 0 42 0 0
(727 (908) 0 0 6 0 a) 0 (34 [0)) C 0
70KmZET 588 416 0 1 22 2 1 1 13 0 0
(499) (409) 0 0 ) @) ) 0 (3) [0)) [G0)
80KmMZET 439 454 2 0 17 0 0 0 5 0 0
(412) (443) ) 0 (5) 0 0 0 @ [0)) [G0)
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(150) 18D 0 0 0 @) 0 0 () [0)) [G0)
90KmiA 680 1,179 3 0 7 0 43 1 0
(605) (1,165) ) 0 §)) @ @) 0 (40) (D) [G0)
FF AR 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 [0)) [G0)
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(33,779) (14,959) i) (11 (326) 24 (35) ) (961) C 6 (@)




ER2IEER E?’:E

ERT 1P RIEEY—ER(ZD2) -- 2t G AL, 3E4 DEIG FRAREETE(

PRERERFE 6Mbits 45Mbit/s| __50Mbit/s| 1 OOMblt/s 1 50Mb|t/s 200Mb|t/s 250Mbits] _300Mbit/ s[ 350Mbit/s 400Mb|t/s 450Mb|t/s
16KmET 4 0 0 0 0 0 0 0 0

) 0 0 0 0 0 0 0 0 ( o) ( 0)

30Km=T 1 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 [0)) ()
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80KmM=T 0 0 0 0 0 0 0 0 0 0 0
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90KmM=T 0 0 0 0 0 0 0 0 0 0 0
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90KmiA 5 0 0 0 0 0 0 0 0 0 0

5) 0 0 0 0 0 0 0 0 [0)) o

FF AR 0 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 [0)) ()

& Ef 15 0 0 0 0 0 0 0 0 0 0
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16KmET 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 [0)) ()
30Km=T 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 [0)) ()
40Km=T 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 [0)) ()
50Km=T 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 C 0 o
60KmM= T 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 [0)) ()
70KmM=T 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 [0)) ()
80KmM=T 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 [0)) ()
90KmM=T 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 [0)) o
90Km#A 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 [0)) o
FF AR 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 [0)) ()
& & 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 [0)) ()
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15Km#ZET 0 0 33,823

0 0 (29,364
30KmZET 0 0 10,874
0 0 (10,025)
40KmZET 0 0 3,181
0 0 (2,.919)
50KmZE 0 0 2,354
0 0 (2,200)
60KmZET 0 0 1,843
0 0 (1,678)
70KmZET 0 0 1,044
0 0 (926)
80KmMZET 0 0 917
0 0 (865)
90KmZET 0 0 378
0 0 (341)
90KmiA 0 0 1,958
0 0 (1,833)
FF AR 0 0 0
0 0 0
& Ef 0 0 56,372

0 0

(50,151)




